Omeeme k 3adaHusm no meme «Memod [ayccar

Baprrant 1
x1=-1,412
— R
Xo=1i )627
x3=0,273

Bapmant 5
x=2,844
%y=2,203
X3:§5§ 16

BapmamT 9
x1:@,402
XQ:G:257
x3=40,395

B&négmﬁm 13
x1=1,269
x=5,442
X*5==2,T73

Bapmamr 17
Xi=- 1 ,][77
x;=g799’
x3=0,272

Bapmart 21
X 1:1 ,Ga
1,=0,102
x7=-0,003

Bap: oHT 45
x=0,713
Xo= 1 ,IL 5
x3=-43,798

BapuwamT 29
}Cl‘:-@,§37
x,=0,894

. Bapmamr 2

0=3224 "
x=-0,118
'X3:=]1,934

BapuamT 6
x1=-0,574
Xf2==@,®§4
)C3:]1 ,76

Bapuant 10

x,=-0,781
1,=-0,612
x;=1,761

Bapuamt 14
x1=4,198
x,=3,897
X3:u5,272

Bapramt 18
x1=0,898
x,=1,093
X3~_‘=L468

Rapuant 22
x1=-0,69
x=1,133
)C3:@,94]-

BapmamT 26
x1=ll 5 105
%,=0,395
x3=-0,209

Bapuamnt 30
x,=14,241
XZZH ,464
x3=-31,082

BapmantT 3
x1=-1,007
%=0,425
x3=1,281

Bapwamt 7
x1=-0,23
JC2:@,867
x3=0,409

Bapmamt 11
x1=0,742
X2:ﬂ3852
X3:‘=@53§4]-

Bapmant 15
x1=@,‘7]l 1
x,=-1,038
X3:@,4]14L

Bapuant 19
x1=3,779
X,=-3,044
x3=1,054

BapwanT 23
x1=-1,307
JCQZTL ,475
X3:®',§]13

Bapmamt 27
xlzﬁ 542
x,=0,79
x3=-2,048

Bapmamt 4
x,=-18,896
XQ_=41»93 17
x3=22,904

BapuamT &
)C1:L§§2
X2:-=]1,]19
x3=0,705

Bapmamt 12
x1=46,688
x,==20,171
x3==4,144

BapmanT 16
X1==@,67]1
Xzz]l 9746
x3==0,175

Bapmamnt 20
X1:]1L3547
%,=-0,432
X3:=@,645

Bapuant 24
x1=5,788
%,=-0,263
x3=-29,675

Bapuamt 28
x1=]1,4l54
JCQ_:]l 3597
X3:='2,M)5



